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SMERHh D FR IR X 19 ERE
HR3—2 BEMITERT HEBESNAHEHEICET HEE/1) REEE | B RIGESE
[ EEREONE | EhES 5245N060 3 ERE | KIRC [ male 7w ] AR
SMERIH O FinICHEET 51 SMfERHA
gﬁg TREOBBOEILADKES TREDOHEBSSLODKRES TREOBBOEILADKES TREDEBESSLHADKRES
= = i AN 7 Y HE E | = = i AN =3 Y HVE =S| =
] 100kN/mM%Z#B % % — -~ - —|3mEEZD -~ - - —| 100kN/m%#B %% - -~ - —|3m%EB23 -~ — — —
Th s — -~ — —| Zhst -~ — — — Th s — — ~ — —| Eh st — ~ — — —
9 100kN/mM%Z#B % % — -~ - —|3mEEZD -~ - - —| 100kN/m%#B %% - -~ - —|3m%EB23 -~ — — —
Th s — -~ — —| Zhst -~ — — — Th s — — ~ — —| Eh st — ~ — — —
3 100kN/mM%Z#B % % — -~ - —|3mEEZD -~ - - —| 100kN/m%#B %% - -~ - —|3m%EB23 -~ — — —
Th s — -~ — —| Zhst -~ — — — Th s — — ~ — —| Eh st — ~ — — —
4 100kN/mM%Z#B % % — -~ - —|3m&EEZD -~ - - —| 100kN/m%#B %% - -~ - —|3m%EB23 -~ — — —
ZTh s 100 | 000 ~ 5.19 76.23 | hLlst | 000 ~ 0.00]| 1.87 8.21 Th s 100 | 500 ~ 820 76.23 | Thils [ 500 ~ 820 | 1.87 8.21
5 100kN/mM%Z#B % % — -~ - —|3m&EEZD -~ - - —| 100kN/m%#B %% - -~ - —|3m%EB23 -~ — — —
ZTh s 100 | 000 ~ 525 7722 | hils | 000 ~ 0.00]| 1.88 8.29 Th s 100 | 500 ~ 840 7722 | hils | 500 ~ 840 1.88 8.29
6 100kN/mM%Z#B % % — -~ - —|3m&EEZD -~ - - —| 100kN/mi%#B %% - -~ - —|3m%EB23 -~ — — —
ZTh s 100 | 000 ~ 525 7722 | hils | 000 ~ 0.00]| 1.88 8.29 Th s 100 | 500 ~ 840 7722 | hils | 500 ~ 840 1.88 8.29
; 100kN/mM%Z#B % % — -~ - —|3mEEZD -~ - - —| 100kN/miZ#B %% - -~ - —|3m%EB23 -~ — — —
Th s 1.00| 000 ~ 503 73.80 | hLls | 000 ~ 000 1.78 7.83 Th s 100 | 500 ~ 7.80 73.80 | hLlst | 500 ~ 7.80| 1.78 7.83
8 100kN/mM#Z#B % % — -~ - —|3mEEZD -~ - - —| 100kN/M%#B 2% - -~ - —|3m%EB23 -~ — — —
Th s 100 | 000 ~ 456 66.86 | ThLls | 000 ~ 0.00] 1.70 7.48 Th s 100 | 500 ~ 7.00 66.86 | ThLlst | 500 ~ 7.00| 1.70 7.48
9 100kN/mM%Z#B % % — -~ - —|3mEEZD -~ - - —| 100kN/Mi%#B %% - -~ - —|3m%EBZ3 -~ — — —
ZTh s 1.00 | 000 ~ 357 5278 | hLls | 000 ~ 0.00| 1.66 7.32 ZTh s 100 | 500 ~ 520 5278 | ThbLlst | 500 ~ 520| 1.66 7.32
10 100kN/mM%Z#B % % — -~ - —|3mEEZD -~ - - —| 100kN/mZ#B %% - -~ - —|3m%EB23 -~ — — —
Th s 1.00| 000 ~ 344 50.95 | ZhLls | 000 ~ 0.00]| 1.66 7.28 ZTh s 100 | 500 ~ 5.00 50.95 | ¥hbLlst | 500 ~ 500| 1.66 7.28
100kN/mM%Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
Th s ~ Zh s ~ ZTh s ~ Zh s ~
100kN/mM%Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
Th s ~ Zh s ~ Th s ~ Zh s ~
100kN/mM#Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
ZTh s ~ Zh s ~ ZTh s ~ Zh s ~
100kN/mM#Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
ZTh s ~ Zh s ~ ZTh s ~ Zh s ~
100kN/mM#Z#B % % ~ ImEEZD ~ 100kN/mM#Z#B % % ~ ImERBZ D ~
ZTh s ~ Zh s ~ ZTh s ~ Zh s ~

|



